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Name	_____________________________________		City	__________


Part I


Multiple Choice (3 points each)





What does Moore’s Law do to technology management


It is important to optimize code speed to take advantage of newer hardware capability


Company computer operations are getting cheaper all the time


Human productivity is doubling every 18 months


It is usually cheaper to invest in better hardware than improve the software


The CPU contains (Mark all correct answers)


Main Memory


The arithmetic/logic unit


DASD


Cache 


How does increased internal storage speed up computer processing


Allows newer programs to be run


Allows the CPU to use more registers


Reduces paging 


Saves more space for cache


The binary code that a machine runs is


Machine language


Assembly language


Procedural language


Fourth generation language


The value of a large word in a CPU is


It allows direct addressing of more main memory


It runs faster


It allows faster graphics processing


It supports a larger DASD


Why do most computer systems process only atomic data


Object and image data is too large to be processed


Atomic data can be represented by codes that can be processed


Programs are written in character codes


Non atomic data cannot be represented in stored data systems


Approximately how much space is required to store a bit-mapped image of a 800 by 600 pixel screen with a 16 tone gray scale


48,000 bytes


240,000 bytes


1.5 million bytes


none of these


A Client/Server system


Uses a large central computer that does most of the processing


Stores data and programs on the computers that use them


Stores data and some code on one machine that transmits it to another machine for processing


Uses JAVA to communicate between main memory and secondary storage


The amount of data transferred from secondary storage to main memory in one retrieval is


a bit


a byte


a block


a megabyte�



A legacy system is


An old computer application that is still run because it is too expensive to rewrite


A program that runs on an old operating system


The operating system for a client in a client/server system


An object oriented database management system that supports inheritance


Reports are stored in an Entity-Relationship diagram as


Entities


Attributes


Relationships


Not stored


The relationship “ENROLLED IN” between STUDENT and CLASS is implemented by


A foreign key in the STUDENT table


A foreign key in the CLASS table


A junction table with foreign keys from both the STUDENT and CLASS table


A query that accesses the STUDENT and CLASS tables


A foreign key in a relational database


Uniquely identifies records in a table


Goes in the “ONE” table of a one to many relationship


Goes in the “MANY” table of a one to many relationship


Goes in both tables of a many to many relationship


A database management system stores SMITH in the Name field of a record in the STUDENT database.  Which of the following are meta-data. (Mark all correct responses.)


The field name is LNAME


LNAME is a 20 byte character field


SMITH is the content of the LNAME field of the STUDENT table


The LNAME field is indexed


An example of a relational database VIEW in Microsoft Access is


A design view of a table


A table view of a table


A query


A relationship view of a family of tables


An example of integrity in a database management system is


SMITH is the correct value for the NAME field in record 1123


The database management system is backed up every night


1123 in the CLASS file matches a record in the INSTRUCTOR file with key value of 1123


The NAME field in the INSTRUCTOR table cannot be blank


SQL is


The machine language version of a database management system


A standard retrieval language for relational database management systems


A report writer for GUI products like Access


Standard Queuing Logic -- the basic relational database engine


What is the “Last Mile” in a telephone network?


The link between the home and the first switch


The link among switches in a city or local area


The wiring for a LAN


The connection between the local loop and the long distance lines


What are the advantages of digital signals over analog ones (Mark all correct responses)


It is more secure


It is faster because fewer signals have to be generated


Can be reconstructed as well as amplified


It can be compressed for additional speed�



Category 5 wire is 


Standard telephone wire


Coaxial cable used in LAN installations


Twisted pair wire used for high speed LAN’s


Fire resistant fiber optic cable


Ethernet operates by


Passing a token across the network to carry the data


Transmitting only when the LAN is silent


Multiplexing the signals to share a line


Reserving bandwidths when transmitting a network message


A router (Mark all correct answers)


Buffers messages


Has ports to connect clients to a LAN


Keeps track of routs to send messages on


Generates tokens to allocate network access


Voice circuits (Mark all that apply)


Have variable delay


Accept variable bit rates of data


Reserves a path for all packets


Reserves processing capacity at each switch in the path


The bit rate for a standard telephone circuit is


56.6 Kbps


1.5Mbps


10Mbps


100Mbps


�
Part II


Short Answer (5 points each)





Explain how virtual storage works?  Why is it used?


























What is (CPU) cache on a computer?  How does it speed up operation?


























What is the difference between a CONCEPTUAL and a PHYSICAL database design?  What is an example of a physical design for Access?


























What is concurrency in a database management system?


























What is a router?  How can one be used to improve LAN performance?


























�
Part 111


(10 points)


The city athletic league is forming baseball teams for the Spring.  Coaches register teams by providing a roster of players and coaches for their team.  The roster includes team name and age group, along with first and last names, addresses and phone numbers for players and coaches.  It indicates the head coach's years of experience as well.  A player can play on only one team but a coach may coach teams in several different age groups.  Once registration is complete the registrar prints a list of teams and coaches for the scheduler to produce schedules.  Head coaches record Name, Address, Phone and Experience.  Assistant Coaches only record Name and Phone.


Draw an E-R diagram for this situation.  Include all keys, foreign keys and linking tables.
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